K.C.P.E PREDICTION FIVE- SCIENCE IHR 40 MINS

I. Which one of the following statement is
Correct when breathing out?
A. Lungs shrink.
B. Diaphragm flattens.
C. Volume ofthe chest Increases,
D. Ribsmove upwards and outwards.

2. The following are some of the physical
changes that take place during
adolescence. _ o

(D) Voice breaks
(ii)  Pubic hair grows -
(1ii) Hips become broader
(v} Rate of growth increases
(v} Pimples may appear on the face
(vi) Chest and shoulders become
broader.

Which of the above changes take place in
both boys and girls?

A, (i) (iv) (v)

B. ) () (vi)

C. (i) (iv) (v)

D. (iii) (iv) (vi)

3. Which one of the following is the main
reason why it is unadvisable to buy
medicine from unauthorized dealers?
A. They may not diagonise discase one

is suffering from. ,
B. They do not have »{ drugs that may
be required,
C. They can give contaminated drugs.
D. They may give wrong doses.

4. The table below shows pairs of diseases
that infants are immunized against and
the ages of vaceination,

Ageof vaccination Disease against

Atbirth Polio X

Y Diphtheria | Tetanus

9" month after birth A Yellow fever

ich of the following answers correctly represents

Y and Z?

- X Y Z
Whooping cough 6“ week after birth
Tuberculosis

Tuberculosis

Measles

10" week afier birth Hepatitis B
Whooping cough 12® week afier birth  Poliomyelitis
14® week after birth Measles

5:

9.

Which one of the following government
projects will not cauge a reduction in the
number of animals in the Tsavo National
Park?

- Mining,

B. Operatinga quarry.

C. Fencing around game reserve using
D.

>

electric wire.
Construction of standard gauge
railway through the res erve.

Which one of the following is polluted .
most when a farmer uses pesticides
excessively? ’

AL Air

B. Soil
C. Crops
D. Water

Which one of the following pests attack
seedlings?

A. Aphids

B. Stalkborers -

C. Cutworms
D. Weaver birds

Standard five pupils classiﬁed some
plants into groups as shown below. i

Group1 Group 2
Moss Mucor
Pawpaw Toadstoo!
Cypress Puffball

Which of the following did the pupils -
consider while classifying? o
A. Group 1 based on plant which
- produce flowers.
B. Group 2 based on plants that feed on
dead organic matter,
C. Group 1 based on both green and
Howering plants.
D. Group 2 based on plants which
manufacture food through
photosynthesis.

Which one of the following cropsisa | -
stem tuber?

A. Onion

B. Irish potato’

C. Sugarcane

D. Sweet potato

- irobi
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10.

11.

12.

13.

14.

Measuring
cylinder

An ant differs from a tick in that

A. an ant has eight legs while a tick has
six legs : =

B. ananthasthreebody parts whilea tick
has two body parts

C. an antis segmented while a tick is not
segme'lted

D. anantis an invertebrate whlle atickis
avertebrate.

Which one of the following pairs of
birds has beaks for eating similar types
of food?

A. Eagle and ostrich

B. Woodpecker and hawk

C. Flamingo and sunbird

D. Chicken and weaver bird

A farmer fenced a big pasture land with
movable fences. Which method of
grazing was the farmer practising?

A. Herding

B. Tethering

C. Paddocking

D. Stripgrazing

The presence of thick white and mountain
shaped clouds are asign of

A. fineweather

B. lowtemperatures

C. strongwindblowing

. heavyrain falling scon.

The diagram below shows an improvised
weather instrument.

,,-——-—‘-—-ﬁ\ Funnel -

Collecting
container

Which one of the following is not true

about the above weather instrument?

A_ The diameter of the funnel is about 13
centimetres.

- B. The measuring cylinder should be

long and narrow.

C. The scale is graduated in millimeters
(mmy).

D. Tt is dug 15cm deep into the soil to
avoid splashing of water.

Yu

r

16.

17.

Maize Stalks

Which ¢ne of the following waterborne
diseases that can be prevemted by
draining stagnant water?

A. Cholera

B. Bilharzia

C. Typhoid

D. Dysentry

‘Which one of the following shows how

water is used sparingly?

A, Repairing leaking pipes

B. Using water that had washed clothes
to clean toilets.

C. Using harvested rain water to clean
toilets.

D

. Treating dirty water in industries for
domesticuse.

The diagram below represents an
arrangement of materials in a compost
manure heap.

Dry leaves

o

‘What is the function of the part labelled

E? .

A. To add more nutrients to the compost

B. To introduce micro-organisms for
decomposition in the compost

C. To provide foed and nutrients to the
micro-organisms which are
decomposers

D. Toprovide moisture inthe heap
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18.

Water

Cotton
wool

i Measuring
| cylinder

The set-ups shown in the diagram below
were used to investigate a certain property
of the soil. The amount of soil, water and
cotton wool used in all three fu;:mels were
equal.

Soil

Which one of the following statements .

is true about the experiment above?

A. The experiment was done to
investigate water retention of
different types of soil

B. Using the same size of measuring
cylinder is not important,

C. The experiment was done to
investigate capillarity in different
types of soil.

D. The soil samples in Y has large
particles than the soil sample X.

Lactating mothers are advised to eat foods

that arerich in iron. This is because iron
increases milk production.

improves the quality of breast milk.
replaces the blood lost during birth.
helps in the formation of strong bones
of the baby.

oawp

Mwanamvua have the following symptoms.
(i) Paleskin

(ii) Poor appetite

(iii} Swollen arms and legs

(1v) Brown hair that could be plucked out -

easily

Which one of the groups of food will help
to correct the disease Mwanamvwvua is
suffering from?

A. Liver, butter, cassava

B. Beef, peas, milk

C. Groundnuts, milk, sorghum

D. Beans, oranges, ugali

21,

23.

24.

v

Which one of the following i# the source
of'the sound produced by a bee?

A. Vibration ofits legs

B." Shaking ofthe body

C. Itcomesthrough the mouth

D. Rapid beating ofits wings.

Which one of the following statements 1s
true? Convection ofheat

A. only takes place in liquids

B. takes place in gases only

C. isthetransfer ofheatin solids
D. takesplace in gases and liquids

Which one of the followxng consists of
magnetic materials only'?

‘A, Cobalt, tin, steel .

B. Iron, steel, ahimiiliu'm g g »
C. T]Il almnm_lum c opper
D. Steel, tin, brass e

Which two of the followmg components
of air make approxnnately 21 97% ofthe
volume of air? - "
A. Rare gasesand oxygen

B. Carbondioxide and rare gases
C. Oxygenand carbon'dioxide -
D. Nitrogen and rare gases '

- el

Which one of the follow:ng is a’

difference between solids and gases?

A. Solids have mass: whereas gases do :
not :
B. Solids expand when ‘heated while
gasesdonot. o -
C. Solids can change to Ilquld whe:reas
gases cannot '
D. Solids have definite volume whereas
gasesdonothave -
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26. Pupils at Matokeo Bora Primary schocl
dropped different objects from ihe same
height as shown.,

e T

Object S — -

»

Height ————

Vo el 5 bl -

Cround lesel 77 T T T T 7 T T {3 1 T LT7
They recorded the time taken for each
object to reach the ground. The results
were as shown in the table below.

TIME TAKENTO
REACHTHE
GROUND

3 seconds

2 seconds

4 seconds

5 seconds

CBIECT

Pieces of stone
metallic spoon
Block ofwood
Sheet of paper

The most likely reason why the paper

tock longer to reach the groundisthat

A. itwasnotas heavy as the other objects

B. it had a larger surface area than the
other objects. i

C. it was affected by air resistance than
the other objects.

D. the force of gravity on the paper was
less than on the other objects.

i
=

. Greasing is a maintenance practice
carried out on simple tools on storage. The
main reason why itisnecessary isto .

make the tools durable.

make the moving tools more efficient.

make the tools more attractive.

prevent the tools form rusting.

GOwy

28. Two identical containers X and 'Y
containing water were balanced on a
beam balance as shown in the diagram
below.

i T 1 L3 1 T T | B |

A

\

|
{
i
H
T
PN

SV

hich one of the following statements is
correct?

A, Tonteiner ¥ contains as much water

as¥.

3. Container Y contains half as much
water as X.

. Container X contains half as much
wateras Y.

D. Container Y contains four times as
much wateras X.

29, Perer and John were scout members
g from Ridi Academy and were on duty
to host the flag on top of the flag post.
Peter used a ladder to climb on top to
put the flag. John used a single fixed
puliey to raise the flag up. Which of the
following statements is not true?
A. Peter made work easier by
increasing the effort distance
‘B. John made work easier by changing
the direction of force
C. Peter made work easier by changing
the direction of force
D. John had the effort and the load
move the same distance

30. The following are forms of energy.
(i) heat
{ii) light
(7ii} sownd

(iv) electricity

Which of the following statements is

trpe?

A. (1) and (iv} do not require medium of
transmission.

B. Only (ii) does not require a medium

) of transmission

C. (iii) and (iv) require a medium of
transmission

D. Only (1) does not require a mediuim of
transmission
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51,

32.

33,

Y°rc}sene maoves up the wick of 2 lamp by
A. solubility.

B. capillarity.

. evaporation.

D. pressure.

In which one of the following aetwmes is
friction least useful? :

A, Carpenter cutting wood w1th asaw

B. Pupil writing on blackboard

C A person - walkxng on ‘a Sllppery i

ground-
D. Achild shuttmg a door

Which one of the foIIOng parts of an
insectivorous plant 1is adapted for
trapping mseets'? T

A. Leaf

" B. Stem

C. Fruit®
D. Flower

In an expenment to mvestlgate a certain
component of soil, water was added to
four different types of soil Q, R, S and T.
They were weighed and heated gently
until there was no' change in mass. The
results recorded are as shown m the table
below.’

Mass before Mass after
Soil type . heatin(gg) he:;n(gg )
Q | 32 27
R o 21 .14
S 30 - .29
T o270 25

Which 3011 contained the Ieast amount of
moisture? -

Sowpg
SR 7R Ve

Which of the fellowin 1g caxrect H
e path taken by urine from the t
A Ureter — bladder ——e
B. thethra — bladder we—
. Ursthra —3 ureter

v, Bladder —s- ureter

g
:

{4
P

37.

- 38.

feeding :re‘;ati --_Shri’;;s f:-f emma 8 in'a bugh
near their s They notad
that fxogs Iea cn.gr assnoapers snake ate
rogs and grasshoppers fed on Zrass,
What is likely to happen if all the Irogs
were killed? . '
A. Grasswill increase

B. Snakeswill increase’

C. Grasswill decrease”

D. Grasshoppers will decrease

Salting helpsin preservmg meat by -
A. softening the meat.

B. adding flavourtothe meat.

C. removing water from the meat.
D. removing a:ir?ﬁom’the meat.

The dlagram below represents a set-up
that is used to. demenstrate a certain
aspectofmatter. ' .

Smolce

- The purpose of the burmng rug isto
A. provide heat

B. showconvectionin air -

C. make the air coloured for wsxbxhty
D. expand the gas inside the box .

39.

Which of the followmg is not a storage of

chemical cnergy?

A. Sun
B. Fuel

C. Food

D. Cooking gas

W Llwh of the followin
the effort between

C fuleram?

Al ‘v‘v“heeiban'aw'_
B, Crow bar

. Claw hammer
D. Spade
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41. Standard six puplls saw a billboard
durmg a field trip. The bill board was
written “KAA CHONJO UKIMWI NI
HATARI UNAUA.” Which of the
following is the main reason why the
billboard is placed on the roadside
before entering into the town?

A. To alert people entering into the town
that there are many HIV and AIDS
victims.

B. Itis an advertisement of VCT centres
in that town.

C. To make people be aware on the
ways of controlling HIV and AIDS.

D. It is a quick way of creating HIV and
AIDS awareness to many people.

42, Which of the following parasites destroy
woolin sheep?
A. Lice
B. Fleas
C. Ticks
- D. Mites

43. Which one of the followmg farming
activities would not lead to soil erosion?
A. Overstocking - :
B. Deforestation _
C. Ploughing across the slope
D. Ploughing along the sIope

44. Fuel can be obtamed ﬁ'om the following
materials.
(). sawdust
(ii). Solar heater
(iii). Charcoal
(iv). Firewood
(v). Coffee husks
(vi). Cowdung

Which among the sources of energy listed -

above help to conserve trees?
A. () (i) (v) (vi)
- B. (@) V) (vi)
C. (i) (v) ) (vi)
D. (1) (i) @v) (vi)

45. Which one of following shows the correct
order of the processes that take place when
- ice is heated until steam is formed and the
steam cooled to form water?
A. Melting, vaporization, condensation
B. Vaporization, melting, condensation
C. Vaporization, condensation, melting
D. Meltmg, boiling, freezing

46. A boat sinks deeper in a fresh water lake
than in sea water. This happens because
sea water differs from iake waterin
A. mass
B. volume
C. density
D. pressure.

47. The diagram below represents a stick
which was placed below a glass jar half
filled with water.,

Glass jar

- Water
Stick

The part of the stick v:.ewed through
water appeared to be larger in size then
the part viewed outside glass j Ja: because
rays of light were
A, refracted
B. reflected
C. dispersed

~ D. magnified

‘48, Which of the following mixtures cannot

be separated by dmsolvmg, ﬁltenng and
evaporation?
A. Dustandsalt
B. Saltand sugar
~ C. Sandandsugar
D. Maize flour and sugar




49. The table below shows characteristics of
flowerslabeled U, V., Wand X_

Flower| Characteristics

has nectar, large petals

strong scent, red in colour

teathery stigma, anthers outside
the flower

loosely attached anthers, large
amount ofpollen.

% | ¢ |<c

Which one of the following pair of
flowers are insect pollinated?

A. UandV

B. WandX

C. Vand W

D. Uand X

50. Which of the following planets are in the
fifth, sixth and seventh positions from the
sun respectively?

A. Saturn, Jupiter, Uranus
B. Jupiter, Uranus, Saturn
C. Jupiter, Saturn, Uranus
D. Uranus, Saturn, Jupiter
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